
Order your Spare Parts here -> http://www.lichtboxx.com/index.php/cPath/158/language/en   

www.lightspares.com I ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria 

 

 

Complete Spare Parts List of 

Martin DJ Wheeler 

  

02005416 PIC12C508T-04/SM 8 pin, SMD 

02100202 LM 358 Dual opamp, SMD 

02105201 78L05  5V/100mA VOLTAGE STAB.   ,SMD 

02400002 Z0405 DF, 4A Triac 400V 

02400004 BTB 06 -600 T   , 6A Triac 

04040236 100uF, 25V, electrolytic, radial 

04050160 100nF, 50V, ceramic, SMD 

04082112 1uF, 16V, tantalium, SMD 

04082116 2.2uF, 16V, tantalium, SMD 

04170400 1K Ohm resistor, SMD, 1206 

04170448 3K3 Ohm resistor, SMD, 1206 

04170464 4K7 OHM RESISTOR, SMD 

04170500 10K OHM RESISTOR, SMD 

04170524 18K OHM RESISTOR, SMD 

04170532 22K OHM RESISTOR, SMD 

04170616 150K OHM RESISTOR, SMD 

04190501 2K7  3 Watt Resistor 

04301002 BYD37M-115 (1N4007) , SMD 

04305010 12V 0.5W ZEENER DIODE, SMD 

05021009 Fuse, 2 AF 

05031005 Fuse holder chassis  2.8mm plugs 

05149001 Spade plug 6.3mm male , PCB 

05220501 Connector terminals, plastic, 2.5# 

05221001 Socket halogen lamp G6,35 

05523003 Mains switch , change-over 

05712002 Motor, 240VAC, 50Hz/30RPM, 60Hz/36RPM 

05731201 Fan 230V  4" , ball bearing 

05749002 Guard for fan 4" 

05830001 Electret condensor Microphone 

08070201 M4x16 screw, Phillips 

08070402 M4x10 screw, Phillips 

08071501 M4x5 set screw 

08072302 M4x10 thumb screw for washer 

08072601 M4 hex nut, black 

08073603 M4 blind rivet nut 

08074401 M4 lock washer, black 

08091001 M5x12 hex cap screw, taptite, black 

08131001 M8x20 hex cap screw, black 

08132701 M8 hex lock nut, PA-insert 

08134301 M8 washer, black 



08190105 2.9x16 self-tap, Phillips, ph 

08190301 3.9x9.5 self-tap, Phillips, ph, black 

08190504 5.5x19 hex cap, self-tap, Torx 

08200104 2.9x16 Plastite, ph 

08220101 3.2mm x 6  Rivet Black 

08220301 4x6mm, pop rivet, black 

08220304 4x12mm, pop rivet, black 

08261202 Spacer Ateco, Black 

11032504 Wire set, black, 1x0.5# 

11041020 Wire, brown, 1x0.75#, 16cm 

11041049 Wire set, brown, 1x0.75# 

11041528 Wire, blue. 1x0.75#, 20cm 

11041530 Wire, blue, 1x0.75#, 22cm 

11041549 Wire, blue, 1x0.75#, 10cm 

11501005 Mains cable, black, 3x0.75#, 150cm 

11860005 Wireset DJ Series Wheeler 

13101001 Cabel clamp f. 1.6mm plate 

13104000 Strap, black , high temp, 2.5x98mm 

13200001 9.5x13mm Rubber nipple plate 1.5 

15460001 1x0.7mm jumper wire 

15802000 Silicon/glas sleeve  d=3mm 

16340010 Adaptor for Parabol,7mm        degreased 

17200130 Lens pl. with shield DJ Wheeler     bent 

17200360 Lens plate for DJ Wheeler        painted 

18200020 Rack f. PCB CPUMIC SMD, DJ Wheeler, seriegraphy 

18820040 Heatsink for CPUMIC asmb w. mic, Starflash III, bent 

20200210 Lamp pl. model EU/US DJ Wheeler HT-paint 

20820020 Cover for microphone, turned 

21020600 Mounting bracket for DJ Wheeler  painted 

23000550 Side plate for DJ Wheeler        printed 

23001820 Topplate for DJ Wheeler          painted 

23001830 EL-box for DJ Wheeler            painted 

23001840 Bottom by mirrorwheel DJ Wheeler painted 

23002500 Cover for EL-box, DJ Wheeler after-treat 

23200920 Alu-profile, Wheeler,   painted, 112.5mm 

23803270 Motor suspension for DJ Wheeler  punched 

23803280 Suspension for DJ Wheeler        painted 

23803290 Sideplate f. lightbox DJ Wheeler painted 

23803300 Motor suspen. l.h., DJ Wheeler   painted 

23804000 Lightbox for DJ Wheeler      after-treat 

33150007 Warning label A 

33190021 Label, ground, black on yellow, D=10 

34000043 Cardboard box DJ Wheeler 

34200006 Polystyrene packing, 80x80x80mm 

34206000 Styropor corner, small 

34240006 PLAST BAG,600x850mm,Spandepose 

35000068 Users Guide DJ Series Wheeler 



37000801 Silicon glue clear, low temp. (220-250 øC) 

37000803 Locktite 330 Multibond w. Activator, 50 ml. 

37000804 Locktite Multibond Activator 500 ml. 

37001201 Silicon glue, hightemp. (250°C), red 

41201004 Lens, Pl/Cx, D=40 mm, coated 

41404014 Mirror, 60x44x2, Wheeler 

46401001 *Dichr. Yellow       31mm x 28mm      .2 

46401002 *Dichr. Cyan Blue    31mm x 28mm      .2 

46401003 *Dichr. Light Green  31mm x 28mm      .2 

46401004 *Dichr. Pink         31mm x 28mm      .2 

55414007 Mirror-wheel, DJ Wheeler, w. adap  mount 

62001509 PCB CPUMIC wheeler La+Mot, EU 

62326018 Color-wheel, DJ Wheeler 

62333019 Mirror-wheel, DJ Wheeler/RoboZap 

 

 

Order your Spare Parts here -> http://www.lichtboxx.com/index.php/cPath/158/language/en   

www.lightspares.com I ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria 

 


